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BD AB BD AB

w2tA] cos x & B2 A2 —, siny °|t}.




3.

ohg w0l 4 Azu)e] Zro] Balsel Ag RE Betal
H7]
@ sin0° © cos0° © tan45°
® cos90° © tan60° ® sin 90°
» G
> dHE: @
tan45° =1

tan 60° = V3




@ sin32° =0.52
© cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cos44°=2.1

2E AQl(sin) | FAHI(cos) | EH I E (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
o 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
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cos44° = 0.72°] B2 3cos44° = 2.16 °o|t}.




5.

o2 2-oA «C = 90°Y o,

sin A 4 cos A 9] ZF-&?

17 21 23
2l ab °
Yw 9%

B

W ~o--7

AC =172 —82 = 152

BC 8
nA=—>— = >
sin NIRRT
AC 15
A= 2
BETAB 17

23
g g A A = —
sin A 4 cos 17
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O ¢} PT 7} ¥ O ol Aot
PO ] Zo|7} 17cm Q1 AH2F
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Z+g POT 9] Holx?

D 1021 cm? @ 11V21cm? ® 12V21 cm?
@ 1321 cm? @wx/ﬁcm?

~&B

/PTO =90° °|B&2
PT = VI72-102 = V189 = 321(cm)
2kA APOT 9] HWol=

%x3\/ﬁx 10 = 15 V21 (cm?) ©]t}.
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oh& 29el4 AC, TP, DB
Fotofet,

x=CT=7,y=DB=3
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e 1ge Y
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o2 183 72 7Pz ABC of| A sin A = 3 o]al, BC 7} 4em
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BC 4 2 -
A:=:=:—OEE12:2 ACO .
sin G I 3] X =
wbA AC = 6em ©| T




10. o= A9 gr2?

sin 60 ° x sin® 30 ° + cos 30 ° x sin? 60 °

®1 @? @? ® 5 ® 0

B

sin 60 ° x sin® 30 ° + cos 30 ° X sin? 60 °

() 5 (%)




11. /C =90° 9l AZ47Hs ABC oA /B = 60°, BC =6 < o, AH 2]

Zdole?

@ 3 @ 42 ® 6 @)9 ® 63




chet 2-& A28 ABC ol 4 AC 9

B
Zdol=?
@ 70 ® 80

AC = 100sin 30°

1




13.

the 13} 2ol AB & A o® sl
20 99 3 C B AYE YA}
AE AB © dgATe wPL D 2

511, AB = Scm, /BAC = 30° & of,
ACBD 9] Hol& stofe},

= cm

»
> HEH 4v3cm?

B

(BCD = /BAC =30°

/ACB = 90° ©|22 /ABC = 60°

ACBD ©J| A

/BDC = /CBA - /BCD =60°-30°=30°

- 1
. BD = BC = 8sin 30 :8><§:4 (cm)
. (ACBD¥] HoJ)
:%x4x4><sin(180°—120°)
=443 (ch)
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15. o= o] WxF0] 10 91 ¥ T4 O ol & AB of +4d= W

o, x o 7h2?

® 10

olct.

AOBP = ZZ4l7rgo| g x =

ol




16. A, B= Y0 9 HHol1 /APB = 60°, PA = 3V3 ¢ uf, PO
o] Zoj?

@) @ 7 ® 8 @ 9 ® 10

APOA = APOB (RHS %)
J3 22 /APO = 30°, /POA = 60°

O=="F%=3,PO=6
V3




17.

ot 1389 ¢ 0 = AB = 10cm
BC = 8cm , AC = 6cm ©] 1L
(C =90° ¢ A7t WA
S Slet. e 0 ) BAge

Lol

@ 1lcm @ gcm ®)2cm @ gcm ® 3cm

B

€ 0 ¢ AZH4474 ABC 9] A
Y] RH2 5 retal sHA.




18.

>
> ®EH. 13382 m

S}
ol

x = 200 cos48° = 200 x 0.6691 = 133.82(m)
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19. o2 oA AC = 5cm ©] sinB = 5> sinC = g
ZAol&?
21 23 25
@ 2Z7crn @ gcm ©) T om
@ T om ® T

sinC = g o] AH = 3(cm)
sinB:il:i
5 AB

-— 15

=T
e 15)2 , 81
BH _<4 =16
ﬁ:%(cm)
HC® =52 - 32 — 42
. HC = 4(cm)
B_CZB_-FH_:?L—FZL:%(CIH)




20. & AABC 9A] =0] h?

<

B 5c
T--10--77

@ 2(vV3-1) @ 3(¥V3-1) ® 4(V3-1)
@)s(v3-1) ® 6(V3-1)

B

10

tan 60° + tan 45°
aIiO + tan

h:

&
_|_

1

B3

= 5(v3-1)




21. o= ™A ABCOl ¢
A AABC 9] =0] h=? '

@ 30(V3+1)
(@)40(«/§+1)
0(V3+1)
( )
( )

®
@ 60(V3+1
® 80(V3+1

5
6

B ~

e 80

tan(90° — 30°) — tan(90° — 45°)
B 80 80 80(V3+1)
~ tan60°—tan45° 3-1 = 3-1

40(V3 +1)




22. o 283 2 YPAPHY ABCD
oAl diztd BD ¢} AC ©] WS P
2} gt} /BCD = 60°, AD = 6em,
AB = 4cm € T, AAPD 9] HolE
otoizt,

» g cm?

> HEH 3v3cm?

AAPD = 1AABD

1
:§x5x4x6xsin60°

V3

—1><1><4><6><
272 2

:3\/§(cm2)




23. U3 139 oABCD oA F tizH4 9]
Zo]7} 24cm, 16cm ©]3L F thZHA 0]
o|F=7Z+o] 3717} 70° € ©f, bABCD
o] gol|g ¥h-dsto] do] 27t
Fstodat, (2, sin70° = 0.94 )

> HE D 180cm?

1
(Wo]) = = x 16 x 24 x sin 70°

= §><16><24><0.94
= 180.48 = 180(cm2)




24.

th2 1o PA, PBE=Y 0 9 HA10]1 OP = 17cm, OA = 8cm
A o, AOPB 9] Hol& stofe}

e
~\/

B
>
> HehD 60 cm?

PA = V172 - 82 = 15(cm)

- 1
PA = PB°|2& AOPB = 15 x 8 X 5= 60( cm?)




25. the 133} o] AABC 9] Y Yol M=
AR PQE 12 W, APBQ 2 589 HdolE
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>
> HE 12 cm

B \
QG = QD, PG = PF |22 aPBQ 2| £¥9] Z°|= BD+BF
oF gt

BD =x 2} 5}¥

(11-x)+8-x)=7

x=06

.. BD+BF =6+ 6 =12 (cm)




